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INSTRUCTIONS ,

1. At the start of the examination before attempting the question
paper kindly check your test booklet and OMR Answer Sheet
and ensure that :-

% The sertal ninmbers of test hooklet and OMR answer sheet are
sane, )

> Ali pages of test booklet & OMR answer sheet are propcrly
printed and test booklet 1s not damaged in dny manner. No page
of test booklet is missing. .

In case of any discrepancy/defect the candidate should im.mediately

report-the matter ta the invigilator for replacement of test booklet &

OMR answer sheet. No claim in this regard will be entertained after

fi_vé minutes of start of examination, Candidafe will be Jiable for it.

2. Answer all questions.

3. All questions carry equal marks.

4. Only one answer is to be given for each question.

5. If more than one answers are marked, il would be treated as
WIDnE answer.

6. Each question has fonr alternative responses marked serially as
1,2,3,4. You have (o darken only one circle or bubble indicating
the correct answer on the Answer Sheet vsing BLUE BALL
POINT PEN. : o

7. 13 part of the mark(s} of each question will be deducted for
cach wrong answer. (A wrong answer means an incorrect answer
or moye than one answers for any question. Leaving all the
relevant circles or bubbles of any question blank wili not be
considered as wrong answer,)

8. Mohile Phone/Bluetooth Devices or any other electronics gadget
in the examination hall is strictly dealt as per rules. '

9. Pleasc corfectly fill your Roll Number in O.M . Sheet. 5 Marks
will be deducted for filling wrong or incomplete Roll Number.

10,11 there 15 any sort of ambiguity/mistake either of prnting or
factual nature in Hindl and English Version of the gquestion, the
English Version will be troated as standerd.

Warning ¢ ) a candidate is Tound copying or if any uneuthorized

material s Jound in his/her possession, ELR. would be lodped against

hivher in the Police Station and he/she would liable to be prosecuted
under Section 3 of the State Prevention of Unfair means Act,

1992 and Board Repulations. Board may also debar himvher

permaneitly from gli future examination of the Board.
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1)
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3)

3)

C4) TEsE 163 - T HE Ol

GHW

Who discharge the duties of Governor in his absence? _
1) Speaker of Vidhan Sabha 2y Chief Justice of High Court
3) Chief Minister of a State 4) None of the above |
e R & v e a Pt Bm e ®
1) e a9 & e 2) To3 EWd @ qE ity
3) TR B g oH 4) I § H aE T

Consuﬂex the followmg two statements?
Assertion (A) : State Governor holds his office during the pleasure of the President.
Reason (R) : Governor is appointed by the Prime Minister.
In the context of the above two statements which one of the fi ollowmg is correct?
1) Both A and R are true and R 1s the correct expianation of A.

2) Both A and R are true but R is not a correct explanauon of A

3) A is true but R is false.

4) A is false but R is frue.

d ffw gu 2 Eraﬁa“f ? feam wifad - .

T (A) : Wwwmwwwﬁaﬁwﬁw%t
R (R) : 0T @1 (s Sem w1 57 e ;

w%ﬁmm@mwﬁﬁmﬁﬁ@aﬁﬁﬁqweﬁé ?

1) Al REF Qe § 991 A%l Wel e R&wa ¢ |

2) AR @ § W ABlHE = R T # |

3) AWElE W R £ |

4) AT € W RTE E |

Which one of the fol'!owiﬁg pairs is not correctly matched?

1) Article : 154 - Executive power of State

2) Article : 155 - Appointinent of Governor

3) Article 1 156 - Qualifications for the appomtmam as Gox ernor
4) Article : 163 - Council of Ministers of State

Friferfige & 4 &9 @ g wd) il qE ¢ 7
1) ST @ 154 - 19 &7 & zr?ﬁn Sit)
2) WFEse 155 - TVayE & 5

3) S 156 - T A [gie Tg draard

.
{

0%



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247) -

4)  Consider the followings about the State High Court :
1} Article 213 pravides that there shall be a High Court for each State.
1) Judges of High Court are appointed by President.
1) Under Article 226, it has power Lo issue certain writs.

iv) As per the provision of the Constitution of India common High Court can be established for two
or more States. :

Choose the correct answer from the codes given below :

1) iand ii are cotrect o - 2) i, 1 and i are correct

4) ii, 11 and iv are correc{ , 4) 1,1 and iv are correct

4) W%WW%aﬁﬁﬁﬂﬁﬁaﬁmﬁwW:
D) R & wgeE 213 § wewe ® B 9Rm 1w § ue ow e e |
i) oY go e & e o i ey amoam B
. iii) SFTEE 226 % SrATd SO <ARTEE @ F5 o (Waits) ST B0 91 SR ¥ |

w)wﬁw&masmmasmawa@mmaaﬁmwammmmm
T < waoe 7 :
?ﬂﬂﬁqﬁ‘@ﬂaﬁwwwﬁﬁﬂ:
DR gl o) i iwiEd
} 3) i, iii qT iv @el % l | | L), 1,1;&?’[21? iv @61 & | .
5)  Council of Ministers of a State is accountable to .
_ 1) State Legislative Assermbly ' 2) Ih’dian Parliament
' 3) Govemor . — 4) :ﬁrééident
LS T R g AR e " L
1) T BEA W E SR z)mﬁﬂtrwa%srr%
| 3) T % 4 | 4 e E o

0)  Armange the following posts of a State Secretariat in hierarc 3y (Higher to lower) order by using the
code given below.

1) Secretary
-~ i1) Deputy Secretary

1it) Special-Secretary
iv) Assistant Secretary
Code ;

1) iv, 11,1 2) 1,1, iy 3Y i1, v, i 4y i, i, 1, v
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6)  orelr fRaa wrom wfwe & R wal 1 A &9 T e @ qerE # g SioEE e (T 3 )
§ PRI S gu 6 oW B 99 S | - '
i) afa
i) 3y "=
iii) Afges wivm
iv) HoMd% Hiad
e :
1) iv, iii, ii, i 2) 1, iii, ii, iv 3) i, il i 4y i, ii, 1, iv

7)  Which of the following is not a function of District CoI]ecto_r?

1) Collection of revenue 2) Maintenance of Law and Order
3) Collection of Income Tax . , 4) Maintenance of Land record
7) i § ¥ S W e & T8 R 7 -

3) ST BN B 4) ¥ T, @, T@EE

8) Balwant Rai Mchta Committee was on :
1) Democratic Decentralization
2) Panchayati Raj Institutions
3) Rural Development
4) Community Development programmes

8) aWad I HEa wwE i -

1) Wit s w o 2) I T et w
3) el e W L 4) argEiie fasrd wEw W
9)  Which of the following articles of the Constitution was inserted through the 73" amendment regarding
Panchayats? ' '
1) 243 10 243-T 2) 244 to 244-P 3) 243 10 243-0 4) 243 to 243-ZA

9) v Sauen orgeddl § ¥ i a1 orgeye Gerad G art § 73§ Al g o @ o 7
1) 243 §243-T 2) 2447 244-P 3) 24312430 4) 243§ 243-ZA

- 10) Panchayati Rajis a systé.iznl of :

1) Local government ' ‘ ‘ 2) Local self government
3) Local administration 4) Rural local self government

v - 5 PTO
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1) et awr & | 2) WM A B
3) A U9 @ 4 g e w@-smEs

11) Consider the following about State Legislative Assembly :

1) 1's term is Five Yg;ar
ii} Itis chaired by Chief Minister
i) It is directly elected by the people

iv) Governor is empowered to dissolve it

Code :
1) i,iiandiv are comect 2) i, i#i, and iv are correct
o 3) i, iii and iv are correct 4y i, and iii are correct
. 1) oo fqum o & an & wehfafeg v far ik

i) ToE THE Fw O ad de i |

i) A TR e Tl gear § |

ith) 4T SR BT S & 9 Pt g ®
iv) TN FT THE TaeR o A © |

i I
i 1) 1, ii &4 iv WET € | B 2) i, i, 7ol iy W1 ¥ |
| 3) i diTmiveR §1 4) A, ji 9T iii T E |
f L 12} In which of the following games, India has won Wo_l%ld Cup in October 20167
: 1) Kabbadi = 2) Football - 3) Hockey 4) Lawn Tennis
12) Pl § 4 fd 2w & e B atee 2016, § 9vF %9 fww a1 2 |
1) @Fad 2) AR L8) wE - 4) e

13) In US President’s election 2016 Donald Trump was a candidate of :
1) Democratic Patty : ", '2) Republican Party
3) Constitution Party - 4y Green Party

13) 20163{'?2?5(#3W%W%Wﬁmﬁ%ﬁlﬁﬁﬁ%ﬁﬁﬁ%ﬁﬁﬁ?31?:’
1) FH@Es urd 2) Profemes et 3) dleqe ™ W 4) 6 wEl
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14) When did NITI (National Insutute for Tr. ansfozmauon of India) Aayog came Into existence?

1) 1st Jan, 2014 2) 1stNov, 2014 3) IstJan, 2015 4y 1st Jan, 2016

14) W F7EW H1 NITI AW 59 & afeda § omar 7
1) 1 99, 2014 2) 19aay, 20149 3) 1 Sadl, 2015 § 4) 19, 2016 &

15) Goods and Service Tax Council (GST) of India is headed by:
1) Prime Minister ' 2) Finance Minister

3) Finance Secretary 4) Speaker of Lok Sabha

15) ama &t GST uiiwe &1 e & .

1) 9e™ 5= ARECEE
3) = |fm 4) Tk T E AR
16) Match List-1 with List-IT and select the correct answer usmg the codes given below-
List-1 LISI-H
(Mountain Types) 7 ' (Region)
A) Young folded -~ 1) South-Eastern coast of North America
B) 0Old folded j ii) Western coast of North America
C) Volcanic 7 ' iil) South-Western coast of North America
D) Fault-block " iy} Circum-Pacific belt '
Codes : ' ' ' o

A B C D

D i v i

2 ai W iv i
<) DI T | B iv
) i ivod i
1@ g;ﬁ?r J @ gdr - JIHWWHWWWWQ@WWWWWﬂﬁQ—
Yo'l g@% 5| S , g -1 -
(W Tbr) - | | CE . =
A)gﬁtaﬁﬁ o ) wad emRe o el - tguﬁae
" i) ﬁﬂﬁdﬁﬁaﬁiaﬂﬁﬂﬁdﬁ
C) wwraa% o iii) - *?m uﬁﬁ?ﬁf @ ey - e
D) 99l - Yug _ iv) qﬁ‘ ki qET
%r : X - |
AT B D
1) i v
2) i dv i
_ 3) iiooii i iv
i e 4) fioodve o dieed e

w. @ | 7  PTO
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17) Match List-I with List-II and select the correct answer using the codes given below-

List - I List-II
(Mountain Peaks) {Continents)
. A) Kilimanjaro 1)  South America
o BY Vinson Massif ' 1iy Australia
- C) Mount Kosciusko ii) Antarctica
D) Aconcagua " i;v)‘ Africa
Codes : V
§ A B C D
. D oodvoi i
ins 2y i v i i
ins 3 i i i v
4) iv o1l ii i

17) gat - Ia?fﬁiﬁ uﬁgqi%ﬁﬁﬁrqamﬁﬁ%ﬁqﬁqﬁmmwwﬁwqﬁq
-1 , gdl - 10

CEGREIED) | A - (wEE)
A) fferdanrd D) R s@RE
i B) T A i) omghn
“ C) Hizve HifmeE - : iil) \’:}Eﬁﬁ:éiﬂ
1.1 D) TEHEHREN vy e ‘
L 7

A B C D

D ivo i i
2) i dv @i
3 i i i v | g
4) v i

18) ‘Which one of the following is the correct sequence of World’s Oceans/Seas in descending order of
area occupied? o o :
* 1) Atlantic - Indian - Arctic - South China
2) Adantic - South China - Arctic - Lfdian
3) Indian - Arctic - South China - Atlantic
4) Arcfic - Atlantic - South China - Indian

18) #aee % ST T 3 e /G a6 E SR a - Ak 7
2) wEEies - afaw b - arkles -
3y Tow - A - 5lav 1M - sewiies
4) SEEE - HAANSE - siere 4 - favg



https://applink.adda247.com/d/XhqWf9lSap

Adda247

GHW

19) Match List-I with List-IT and select the correct answer using the codes giveu below-

List-1 List-IT.

(Particulars) (Spots)
A) World’s wettest spot 1) IQique
B) World’s driest spot ' . 11) Mawsynram
C) World’s northernmost town ' iii) Ushuaia
I3) World’s southernmost town' iv) Ny-AIesund
Codes : '

A B C D

1) ioiv i iii
2) i i v
3) i iv il
4) iioqi i iv

19) el - T el - g i den R R g e e o wd g g
o1 | gl -1

BRF(ECEL ) R SR i
A) F9T &1 AR =} . |t
B) fase &1 b e , iy
C) fasg =1 4 - Fad e i) ggem
D) fared =1 Y - =il sme iy H e
%< - .

A-B C D
Do iv i i
2y i i v
3 i b v i
4 G i v

20) Match List-T with List-1I and select the correct answer usil_lg_ the decs given below--

List-1 , Listit ©
© o (Wetland Ecosites) S - {States) - v,
A) Bhoj ' 1) * Himachal Pradesh
B) Chandratal = ,i): Madhya Pradesh
C) Schlur ‘ 'iii) Tripura |
D) Rudrasagar , iv) Jammu-Kashmir
Codes : ' Lo R

A B C D

6 v i
2) 1i i iv iii
3) I oo iv

4) i 1 11 iv

25 - & ' 9 PTO
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20) ot O g Ilﬁmaﬁﬁqam%%quemmmww—qﬁq
-1 & I

(sEgfy aiftufs W) (T)

A) Hro i) TeAmEs weer
£ © B) = , i) MH HEW
| Q) s | ) i) PBrga

D) TEERT | iv) W - e
I A B C D
D i@ iv i i
2 Wi v i
3 i i i v
& i i di v

21) 'Which one of the following would be the best strategy for ecolo gy«fnendly sustainable developme
in Indian agriculture?

'1) Improved farm implements and machinery, use,of poteht insecticides to minimise post-harves
graln Josses and monoculture croppmg practlces '

2) Mixed cropping ancl use of organic manures mtrogen-ﬁxmg plants and peqt-leszstant crop
" varieties. s ;

3) Wide use of high-yielding crop 'Varieties, better and more frequency of aerial sprays of inorganic
fertilisers. and pesticides. :

4) Expansioti of cultivable land, increased use of -sil"per phosﬁhate,' urea and effective bioacids.

21) ﬂﬁ?ﬁﬂ@fﬁx'ﬁmﬁﬁaﬁaﬁr ﬁa@r&vﬁaﬁmﬂ%@ﬁﬂ%@aﬁﬁﬁ? - |l WY Aeeaw BRI 7
1) T Hia S9H0 AR T, Wm%aﬁmaﬁa@aﬁrwamﬁ%@mm
ﬁw&mmmamwwmi :

2) ﬁf%@?ﬁwﬁamxmﬁm@ﬁﬂm ﬁaﬁwﬂ%ﬁmaﬁz qﬁﬂmﬂwﬁﬂmaﬁfm

aﬁwﬁmzﬁrwmﬁtﬁwﬁm "

4) e i By T, T iR, e S SR S - o @ st s |

22) Tropic of cancer and 80° East longitude divide India into four quadrants. In which quadrant are the
maximum cotton growing areas located? '

1) North-East 2) South-West 3) North-West . 4) South-Last

2‘5-.@ - 0
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22) EHEB%@Ta 80°%ﬁiawwﬁraﬁa§afsﬁﬁﬁmﬁmaﬂﬁ%I%Haﬁafmﬁmwa‘«r%?
Agiiers & fog & 7 :
1) IW-gd . 2):‘@‘«1111—@%111 3)3?11—#@?111 4) zigqor - 94

23} What is the root cause of shifting tendency of Indian cotton textile industry from Mumbai towards
Ahmedabad?

1) This-industry has the advantage of early start in Ahmeda:bad.

2) Land in Ahmedabad is cheaper than Mumbai

3) ngh quality cloths manufactured in Ahrnedabad are in large demand in India and abroad as
well, :

4) Ahmedabad enjoys more irn_po_rt—_export facilities than Mumbai. :

23)%%@@@%%3@%ﬁmﬁaﬂ1ﬁamwaﬁﬁ%waﬁ TR 7

1) 39 TEFT H1 SREHETEE § qEfe & A e g

2) SewErEE ¥ i g @ T aE ¢ ‘

3) Wﬁ%ﬁﬁ%%mﬁwamﬁéaﬁﬁaﬁm%i
4) Wﬁwaﬁaﬁmm ﬁama%gi%r%rrqaaﬁ'cﬁm%i

24y Whlch of the followmg statements regardlng physwal features of Rajasthan is/are correct? Select
the correct answer using the codes given below-

1) Hadaiiti plateau is bounded by Main Boundary Fault in North-West. .
i) 41.50  percent area of western sandy plain is sand dune free region.

L “111) Structurally, physical fcaturcs of Rajasthan form part of northcrn great plains and peninsular
plateau of India.

iv) Aravalli in the present tlme exist as residual mountams
Codes :

1) i, iiand iii- $2) i, i and v 3} iand i _ 4) Only iii

24) wm%ﬁﬁmmw%rwaﬁﬁm%%anaw o1/ B - ﬁmmwg?wﬁq
e N TR B WEl IHT g -
i) =ERT Tor ufyany # gem | 991 2 Sk ® _
u)ﬁlﬁ%ﬁﬁﬁmaﬂmsoqﬁrmwmqﬁmﬂ%l
mmwamﬁ@aawmmﬂﬁxww%m%mmmwrmf%wg
iV} FNEET TEHE W STEiTe uaet & 'Y H o Sqeed
FE

D i iiaﬁuii 2) i, i ST v 3) i of i 4) e iii

25. @ | - 11 L PTO
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25_) Which of the following statements regarding climatic conditions of Ra]asthan w/are con‘ect‘? Select
the correct answer using the codes given below- '

1) Climatic conditions of Rajasthan exhibit extrermty of temperature and rainfall.

i) During the last ten years amount of rainfall has decreased in western desert part, while increased
in Mewar. ' . , ‘

1i1) Sudden onset of South-East moisture laden winds over an intensely heated landmass is the root
cause of scarce rain in Western Rajasthan.

iv) Climatieally major part of’ Rajasthan lies in sub- t10p1ca] zone.

Codes : '

1) iandii 2) ii and iv 3) iiiandiii  4) Liiandiv

25) ﬂmﬂﬁaﬁa@%a@aﬁﬁﬂ%@mq@raﬁ? wzaﬁ?ﬁaauﬂw%?%ﬁqwﬁm
TRINT e T8I 9 g -

l)ﬂwaﬁaﬁa@aﬂqw@a&faﬁaﬁmwmm%l .
i) T T Aut H aivedl wswesr e A e ugl E, Wﬁm@%ﬁﬁ@?ﬁ%’! ) |
fii) ofvarel e § g a6t @ g HR S - Wwwaﬁw @wﬁam’é‘waﬁaﬂ‘

FIRRE TS ¢ | '
xv)maﬁaﬁa@rwmaﬁwwmﬁaﬁﬁﬁw%i
D i 2 sy | ) i f;"aﬂwj 4y i SRy

P e pET R

26) Match List-I wnh List-IT and qelcct the conect an3we1 “using’ the codes given below-

List- I | S R UUS | :
(Soil Types) . T Rt (Climatic' Regions) SRR
Ay Aridisols b Addandsemi-aid 7
B) Inceptisols Y semi-arid and humid”
) Alfisols | ’ ii1) ‘3ub humid and humid
D) Vertisols " iv) Humid and super-humid
- Codes : . L R PR -
s e b £ EEEEE
1 S S T
2) v i i dE
3) P v |
4} i i1 i v

,12
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26) Fdl -1 =l - nﬁgﬁﬂﬁaaﬁﬁqaw%ﬁqummweﬁwgﬁq
T - 1 T -1

EEERC) (FAETTg Fe9T)
A) ufrdrde | | ) 9 U o - 9%
B) sy | - i) ¥ - I U4 am
C) AT | i) 3T - o g
D) géfere R iv) o ud oy - e
A'B C D
1) ST R TR
2) vooi i i
3) Pfi iv i
4) i di v

27)  On the basis of legal status (31 March, 2011) examine the following statements 1egard1ng forests of
Rajﬂsthan and select the correct answer using the codes given below-

l) Of the total forest area in Ra]asthan reserved and protected fmests respectwely constltute 55.84
and 37.94 percent.

i) Maximum reserved forests in the State are found m Udalpur and Chlttorgarh d_tstncts
iit) Maxlmum protected forests in the State aye found in Baran and Karauli districts.

.- iv) Meximum unclassified forests in the State are found i in B1kaner and Q@ngfmagar districts.

Codes -

e 1) iiediv o 2) i and iii : 3). i, iid and iv .' C 4 Oniyl

27 &uﬁmﬁaﬁ(ﬂwﬁf2011)%mwmwm%aﬁ%mﬁﬁwﬁﬁ@amﬁmﬁwﬁﬁq
aur He Ry 70 3¢ @ W w2 w8 SR g -

i) Wﬁ%ﬁﬁ%ﬁﬁ&ﬁﬁ@ﬁﬁﬂﬁ%ﬂwm 55.84 7 37.94 Ulqeid & I
i) rtmﬁm@raﬁ%ﬁmaﬁmaﬁrﬁ%ﬁﬁrﬁmme i
i) T 8§ wad et wefed o a7 e e § o S ¥
tv) o) T il sl o ER o e Rl # g o ¥
;) i, it Al iv . 2) -i, i afrr«iii 3y i, di A v 4)- ?h_cﬁrfi '
28) i ajasthan dG‘BGI[IS quiie unhhely from other descus situated in similar 1at1tudes of the World What
is the logical perception about desertification process here?

I} Tt starts due to drou ght.
2) Tstarts and expands from desert heartland.

3y Iustarts and expands from arid regions.

4} ltstarts and expands due to overgrazing, over ploughing, deforestation and improper management
of soil and water.

25. @ 13 . PTO
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ES)WWW%sa%sﬁamsﬁﬁﬁaammﬁﬁﬁwwﬁﬁ B | W€ wHeiE wfma
% T | T AU Ge §

1) I& T@ % HEO A A E |

2) 9% FEOEW 9 MW T N B R |

3) %m%ﬁﬁmawﬁﬁdﬁ’r%l

4) %Wmmwwam%aﬁw%wwamﬁadﬁm -

29) In which Agricultural Year during the Iast three decades more than 90 percent v1llagcs of Rajasthan
v were hit by unprecedented famine and drought?

1) 1987-88 2) 2000-0L  3) 2002~03 o 4) 2009-10
- 29) na?ﬁaasmﬁrmraﬁﬁ90§ﬁsmﬁa%m%amaﬁﬁmﬁamqa@‘ﬂ%a
.  oos7es 2 200000 3 200005 4 2009-10

- 30) Examine the follow1ng statements regardlng development of barren land n Rajasthan and select
the correct answer usrng 'the codes grven below- ‘
i) Currently (2013-14) barren land const1tutes about 19 percent of total reported rea for land use
purpose in the State. i _
i1y Old fallow land has recorded about 18 percent decfease over the last 30 years in the State .
iii) Onus of development of barren land in the State lles w1th the Natronal Wasteland Development
Board. : - : : '
iv) Integrated Barren Land Development Project is bemg currently ran in 10 d1str1cts of the state
with the co- opelatton of Swedish Intematronal DeVelopment Agency (SIDA)

Codes

1) iand it 2_)- jandiii 3)' ij"andiir-j_'_.- 4_)lli','ii_andiv

30) Wmﬁwaﬁrm%n@ﬁﬁqeawmwﬁwaﬁﬁqamﬁﬁt{rmﬁaﬂmw
T I gy - |
) nﬁrqaﬁm:r(zom14)ﬁgmnsgwqﬁaﬁa%aﬁmmr9q%mtﬁw*ﬁa%l
u)wamsowﬁmmaﬁtﬁwrsmﬁmaﬁaﬁm%t
L Im)wﬁwmﬁﬁmwaﬁrmﬁqﬁmweﬁwﬁar@amﬂﬁﬁw#m%
' -‘w)wqmﬁrﬁw“{ﬁrfﬁzﬁmwwﬁadﬁd@mﬁmm(smm%mnﬁw
aloﬁrmaaamel
27T

D idvii 2) 1@ i 3) iR v : 4) i, i 97 iv

14
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31)  In view of increasing number of dark and grey zones in Rajasthan Central Ground Water Authority
of india has put total ban on exploitation of ground water in which of the admlmstratwe blocks of

the Stawe?

1) Bhinmal, Todabhim, Toda Raisingh .
2) Behror, Bhinmal, Surajgarh, Dhond, Shri Madhopur

3) Surgjgarh, Desuri, Deoli
4) Behror, Osian, Mahuwa
31) g™ ¥ oFg U 48T (dark and grey) &5 @ 9Et &2 OGN & W YRA & &g 9 - W@
mﬁwm%w%ﬁﬂqsmﬁm@éﬁ@mmﬁﬂwqﬂﬁiﬁwﬁ% P
1) e, diEHm, 2= miis
2) WEUg, YA, oG, HiE, gy
A 3) W9 a-ﬁ:ﬁ, a_'-'-lf"ﬁ
4) FEdE, R, wEa

[ 32) Odd out the incorrect statement regardil}g livestock numbers in Rajasthan-
1) Rajasthan constitutes 11.27 percent of total livestock numbers of India (2012).

2) Livestock numbers of Rajasthan mcreased by 10.69 lac from 2007 to 2012.
3) Donkeys and mules recorded maximum increase in ‘numibers from 2007 to 2012,

4) Camel recorded maximum decrease in numbers from 2007_t072012.
32) v ¥ aged e ¥ wey § g B @ o -
1) Wmﬁwaﬁgﬁrqwmw 1127§ri%rsrawarﬁr%* (2012) |

2) aefzom%zmzﬁwemaﬁqg;wmﬁr1069@@@6{%@%1
3) aefzom@rzolzﬁnﬁra@aﬁaﬁﬂwﬁwﬁmqﬁggé%:
4) 7§ 200749 2012ﬁr$€faﬁ.m.:.fmaﬁ%mgdﬂ%| ‘

33 Which of the following: changes occurred in Cioppmg pattern of Rd_]asthdn blIlLG Fnst }’Idn Period
11} 2012-13 is/are cotrect? '

§) Area under cereals has increased fro_m 42.5 to 56.0 percent.

H) Area under pulses has declined from 21.0 to 13.5 percent.

i) Area under oilseeds has increased from 6.2"t;(_) 20.5 percent.

iv) Area under cotton, Sugarcﬁne,' guar, fruits, '»"cgciabié& spices and fodder crops has increased
from 16.8 to 23.5 percent: :

Selest the correct answer using the following codes -

1) 1 diand i 2) iandiii 3). Onlyi 4y i, iii and iv
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33) TR H yuw QR @ A 2012-13 d6 T 9 § ufed B d & B - g 4
1) I AR SR 42.5 8 SeeRt 56.0 Twd B Tar ¥ |
i) &I % AT SR 21.0 ¥ Temt 13.5 uids € T
iit) foete & orala 8=%F 6.2 § Tgat 20.5 Wias & T E
iv) F9M, T, TR, G, qa, Waamwﬁraamﬁaﬁw msamzsstﬁmﬁmﬂr%l

1 )i, ii 9 i 2) i ol i 3) e i 4) i, iii @ iv
1
: 34)  Match List-T with List-II and select the correct answer using the codes given below-
List- 1 List-11
(Lift Canal) (Beneficiary Districts)
A) Jai Narain Vyés i) 'Bikaner, Nagaur
B) Choudhary Kumbha Ram ii) Jodhpur, Bikaner i
C) Panna Lal-Barupal iii) Jodhpur, Jaisalmer 1
D) Dr. Karni Singh iv) Hanumangarh, Churu l
Codes : o -
i A B C D
| ndioi i v )
| 2 i v i §
3) iooive i il
“ 4 iioivoi i

34)  ud -1%0 ah - IIﬁ@ﬁaﬁﬁQHmW%%ﬁHW@tﬂmﬂﬂﬂﬁmﬁ
gr-1 ogd-n Lo e R

(e 20 | Gt By
A) IR = | ) R, AwiR @zm*’z
B) 18 g e i) SleR, g
C) @ - S| ki) e, Sty

D) =, FHuiiiE : iv) . BIEETE, 95
e ' '
A B C D

o EHoi i v
2 i v i i

3) i odvooi i
4y i iv i i

gt

16

RN e

I
i
]
]
|
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List-1 List-11
‘ {Minarals) ' (Mining Areas)
A) Emerald i)  Tikki, Garhbore
| B) Gamet ‘ il) Rajmahal, Bageshwar
' C) Manganese _ iii) 'Leejl_a_wani, K_alak_huta
D) Copper iv) _Kolhan, Bhagoni
Codes : ' '
A B C D
1) i i i iv
2) i i iv
3) TR TR T
4) m v i i

gt -1 g -1

(@ivrn) N (T &)
A) = ' P D) fedr, TR
B) amET g ii) - T, ST
C) o iii) oA, e
D)dEr - | iv) @I, |
He : , '
A B C. D
1) poi it v
2) T T
-2) i i v

LI B TR A

1} Jodhpur, Pali, Ajmer, Alwar

.&) “Bikaner, Jodhpur, Bhilwara, Jaipur
3} Ahwar, Tonk, Chittorgarh, Ajmer
4) Kota, Ajmer, Udaipur, Bharatpur-

ro

35)  Match List-I with List-II and select the correct answer using the codes given below-

3% 19 - 1 g A s A R e e R wd o g -

35) 5‘@;; the bﬁS]S of mdustrial potenuahtxes assessed by various Public Sector Financial organisations
(RIQO RFC, RAISICO etc.) which districts of Rajasthan have been included in caregory ‘A’?
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’%6) m&m&‘aﬂaﬁ%ﬁfﬁam(fdco RFC, RAJsroaIrﬁ)amamﬁrmaﬁ%frﬁmswmaﬁ
& HIET WA A0 § o s o afate g mo € 2
1) WY, 9, Aoy, SR o 2) iR, YR, e, Ty
3) oW, O, Fdgms, R 4 WWWW

37)  Which of the fo]Iowmg statements rcgfirdmg popuiatmn trends in Rajasthan 1s/are corrcct? Select
the correct answer using the codeés given below. -

i) Decadal growth rate of the State populatlon has declined 9.97 percent during 1991-2011.
ii) Population density of the State has increased more than six times during 1901-2011.
iii) Trend of sex ratio of the State has been even during 1901-2011,

iv) Literacy rate of the State has incieased more than eight times during 1951-2011.
Codes : ' W |

1) i and iv 2) iandii 3) diandiv . 4) i iiandiv b
Y WMﬁWW%Wﬁ%ﬂﬁﬁﬁﬁﬁﬁW/mﬁzﬁmwéfﬁﬁﬁqﬂﬁ% |
, M B FE FaE gy - 5
1)quana%asﬁaq%zﬂ19912011%%9975(%&13&&3| o
i) T § SR @ g 1901-2011 & 4R B o e gel & |
iiiy v W fefrrrene &1 Rt 1904:2011 %807 Uh THA W E |
iv) T H HwRdr &Y 1951-2011 % SR S 00 H i wéh |

1)y defriv 2) ialii 3) i oz iv 4 Liiefriv
38)  Match List-I with List-TI and select the correct answer nsing the codes given below-
List -1 : List-11
(Percentage of Tribes in (Major Habitats)
Total Population of Rajasthan, 2011) : Co
A) Less than 20 percent - i). Baran, Bundi, Karauli
B) 20 to 25 percent ) Chittdrgarh, Rajsamand, Jhalawar
C) 26 to 50 p.ercent . iif) Udaipur, Sirohi, Dausa
D) 51 to 80 percent _ B - 1v) Banswara, Dungarpur, Pratapgarh
“Codes-: ' ; ST Ll ‘.
i i it v
2) 1 il il v
3) IS L | S i
4) v i

' : : =
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38) et - 1o el - 1 & gAlea i qur 99 B T ge @ wE @ wd aer g -
i - | qal - 11
(T oY B EEn (T SATATH-4)
% wwafral & fosm, 2011) |
A) 20 sRYgT & %A ) A, g6, wi
B) 20 % 25 wftsra . | i) Todrem, TR, Semane
C) 26 ¥ 50 Ff9w | i) Eagy, R, e
D) 51 & 80 wige iv) arHaEl, $RYE, HATTe
F<: |
A B C D
1) i1 @i v
2) P v
- 3y i v
) iooivooi i

39)  Match List-I with List-1l and select the correct answer using the codes given below-

List-1 L ListIl
(Tribes of Rajasthan) ' (Major Habitats)
A) Sahariya gy i} Dungarpur, Banswara
B} Garasiya 3 B BB ii) Udaipur, Sirohi
C) Damore - iit) Baran, Kota
D) Mina ' "~ tv) Jaipur, Dausa
Codes : ' ' S
T A B C D
1) o1 i v
2) ioodi i v
3) Hiodooi v

mé&) TR T N - |
ki '-.Iamfn Il@rgﬂﬁﬁaﬁﬁmaw:ﬁ%ﬁqmﬁb‘dwmaﬂw—ﬂﬂﬁq

S -0
(T 3TarT- éiar)
1 : R i) ~ERgY, afedaE
1y wnfear | i) seay, RRE
C) B ' ii) &, wrer
1) wbr - iv) S,
[
A B C D
15 N | TS T B 1
j 2) T TR iv
- 3) i iv
g 4 Ho1 H v
gs I 19 PTO
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40)

40)

41}

41}

42)

GHW

Which of the following development programmes are not dn‘ectiy related with improvement of
tribal economy in Rajasthan?

i) Modified Area Development Approach and Cluster Project
i1) Rajasthan Mission on Livelihood (RMOL)

iii) Mewat, Dang and Magra Area Development Programme
iv) Swarnajayanti Gram Swarojgar Ydjna (SGSY)

Codes :

1) Onlyi 2) 1andii : 3) i,iiandii 4) i, iii and iv

ﬁqﬁﬁmﬁﬁaﬂawﬂmwﬁmﬁraﬁaﬂm%amﬁmm H@%ﬁﬂﬁr%?
i) wnfRe & - e SUn qeT weed aAr '

ity T amaiEE e (RMOL)

iii) HETT, ST AGT TR S [ wEEn

iv) wofsRid T\ =mEsT 9ie (SGSY)

) Fawmi 2) idwi 3) i, it el i 4) ii i &t iv

How many unemployed-persons'liave been-estimated in totali3 crore labour force of Rajasthan as
per population census 20117 4 :

1) 20 lac 2 3lac 3) 3Blac 4) 33lac

aizoua%wmm%mwmma%@mmmaﬁa (1abomforce)rr%aﬁé€‘caﬂmaﬁﬁ
st M & 7

1) 20 @@ 2y 30w 3) 38am - . 4) 3@

Which of the following facts about unemployment rates in.RdjaSthan is/are correct according to 68"
round 2011-12 of National Sample Survey Or, gamsaﬂon (N S,SO) usuﬂl status ad Justed (UPSS) mode?

i) 0.9 percent males of total labour force are uncmploycd in ruraI areas, £ e
ii) 3.2 percent males of total labour force are unemployed in urban areas. e
ifi) 3.1 percent persons of total labour force are unemployed in whole State. o
1v) Unemployment rates are much higher in rural areas than urban areas.

Codes :

1) Onlyiv 2) iandii 3) il and i 4) i, iii andiv

25- @ 20
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42) U™ Y9 HE e (NSSO) & ad 2011-12 % 68 9 &R % aman wonam § amy Rl
(oo F o W s S Ema A A A e - A/ e - A de wE & /¥ 7

D) AT & W g el & 0.9 9 gey ahe |

i) S &9l § W 2m-a & 3.2 uidete yeu §Uee € |

iil) ¥l T F T am-stieRd & 3,1 ufosta efe SR €

iv) 9Tedt &Rl @ arienm anfo 4 F Sed 4 &F 9 w5 £ |

1) e iv 2) idfwii 3) i @R i 4) iiii iy

43)  Which of the following development programmes in Rajasthan were amaigamated in Swarnjayanti

Gram Swarojgar Yojna (SGSY) since 01 Aprii, 19997
i) Integrated Rural Development (IRDP) and Training to Rural Youth in Self Employment (TRYSEM)

ii). Development of Women and Children (DWCRA) and Industna] Too]s Supply in Rural Areas
: (SITRA)
@ jif} Ganga Kalyan Yojna (GKY) and Million Wells Sclieme (MWS)
* iv) Jawahar Rojgar Yojna (JRY) :
? Codes :
1) Ornly i 2) iandiv 3) i,ii and it 4) i_, ii and iv

43) WﬁﬁWWWﬁWEﬁW(SGSY)ﬁO} eﬂtm 1999@(%{*?{1%%3:%3 éﬁaﬂaw
qufereT feh TIq 7
i) FAFEA JEOT S (RDP) T JH07 @ Wm wiSrer (TRYSEM)
i) ot @ H wfer vd AT ReTE (DWCRA) o sieiifis aﬂvm LTI (SITRA)
iif) 7T T I (GKY) den Bifere gt =i (MWS) o
iv) STETEY IR AT (JRY)
fT _ ‘ | :
1) FEHI 2) i3V C3) LEARE 0 4) i e iy

44) Approximately how many persons in total pOpulat'iO'ﬂ.Of _R?ljaé_than have been estimated as poor in
2011-12 according to C. Rangrajan Expert Group Report 2014? -

1) ~1.12 Crore ' 2) 1..51_C1;pre - 3) 235 Grore | 4y 90 Lac

44) w e fasive 2w & R, 2014%@3@«2011 12ﬁa—rmwrwmﬁw
fopem =afe Felw affE Mo 7

1 1.125@3 2) 151 %8S 3y 235 %0 4) 90 @

. ® — e
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45) Which of the conclusions obtained from poverty ratios calculated for Rajasthan accord:ng to Suresh
Tendulkar method is/are correctr? ' S

2011-12.

ili) Poverty ratjos in the State have dechned in- both the years 2009 10 and 2011-12 compared to
India.

v) Poverty ratio in 2011- 12 was cstlmated 14.7 percent for Ra_;asthan and 21 9 percent for India.
Codes : ' ' ‘ N

i D iandiii - 2) jandiv -' _35 1 i _and i 4y i diand iy

a%sﬁlajm Tty & aﬁﬂﬁwa% fe, trﬁai%ﬁﬁﬁw |
1) W%W%ﬁrﬁﬁ%ﬁwmzowmﬁzou 12&5% 103 wfase s & L

{ u)W%sﬁaﬁnﬁﬁﬂma@wzmmoﬁzonlzasé‘mww‘r%rsmaa%a

“iil) 7o 7 S Al 2009-10 7 2011-12 T aue wwa # ge # ae ¥
iv) 2011- 12ﬁﬁma§qmnmﬁﬁ 147wﬁsmamwﬁ219q%smammwl

%

46) ' In which period ‘Amrawati Sfupa’--was built? _ _
1) Gupta”s‘ 2) Mauraya's: 3) Satvahana s | 4) Vardh'an’s
46) ma?%ﬁq Emﬁnfm%afﬂaﬁeanm? '3;:;_”,»' S _ _

A7) Who discovered the '.‘"'Bh'a'rh'ﬁt Stuﬁa’.in the yeﬂr ;.'1i8'57'3 AD" g 7
1) Marshal 2) Kanigam 3) KS.Lal - 4) B.K Thapar

47y 1873¢. H W@q aﬁ@aﬁmaﬁaﬁ ?

o s 2) afmw 3) E ara 4y A ¥ aw

48) Whereis ‘Danchand Chopra’s Havelli” Situated: ir"i"R’é_jasthan?':’l _' o
1) Bikaner 2) Sujangarh - 3) Khadi .~ 4) Kishangarth

- 48) e § A A @ e aE e E 7
1) FEr 2) GHATE B BCUED A e

1) Poverty ratio in rural areas of the State has mcreased by 10 3 percent between 2009 10 andl_

i) Poverty ratio in urban arcas of the State has declmed by 9.2 percent between 2009-10 aud 2011-12.

"ﬁmﬁqaﬁmaﬁ%?g

D idRiE . 2) xaf”r‘mv 3)1 iié?rg'ii'i 4) i, iii W,-' -

5- @ | 2

o .
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49) Who built the famous Fort of Mandu?

1) Hussain Shah 2) Bajbahadur

3) Mohammad Shah : 4) Kumbha
49) wig % vitrg fet o Fivr e B o ? |

D EEmE  2) e 3) e o 4) g
50) What is ‘Cheda Fhadna® in Bhils?

1) Festival 2) Divorce - 3) Martiage . 4) Birth of Son
50) el § ‘Bg1 WA W®E ? ,

1) Srr 2) T 3 fgae 4) gI-TH

51) In which of the following Maharaja’s Darbar ‘Gandharv Baisi” was present in the form of 22 poets,
22 astrologers, 22 singers and 22 other subject specialist?

1) Maharaja Man Singh | 2) Maharaja Jai Singh

3) Maharaja Bhagwat Singh - B 44)‘ Ma‘haraja Pratap Singh -
51 ﬁwﬁr@rmw%wﬁzzmﬁr 22 i, zzwﬁaaqazzfawi%rsﬁa%ﬁmﬁ REC]

aigHl feEmm o 7

1) WETIeT AR | = 2) HER mﬁw

3) HERME Wﬂfé‘zz -- 4) R S
52) ‘Namadi and Rangch arc charactenstlc of which ]anguage? .

1) Hadoti 2) Mewati 3) Malawi :. 4). Ahitwati
52) Frl e Y S A i ¥ 7 o .

DR ) B s ) o
53) Who established thc.‘Alkhiya Sect’ (Sampradaya) ‘?L ‘ __ |

1) Lal Giri | | 2) Bhola N_atﬁ | '~ 3) Charan Das Coa) Sant_Désji ,
53) ‘e wEE’ Wl e e 6 7 L

1) e fid 2) st WAL, A AR
54) During which Maharaja’s rule ‘Ramprakash Theatre” was es‘taBli;Shed’ih Jaipur?

1) Maharaja Ram.singh Im 2} M‘?hald_]dlshwar] Smgh o

3) Maha:.aja Vijay Singh | o 4) Mah znajd Man Smo o

54) Tragy ¥ TEATEST BRET & W ey BEne & @ q R

1) werrar T - 1 2) W Syaiie
3) WeR TEEaniE 4) W W
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55) ‘Bam dance’ is famous at which place?

1) Alwar-Bhartpur 2) Jaisalmer-Batmer

3) Jaipur-Ajmer 4) Udaipur-Sirohi
55) ‘qH Ja' @l w1 uiE I E 7 :

D) wo - g 2) S - A 3) T -
56) To which form the ‘Sugan Chiri’ is considered as Lokmata

1) Sawangiya Mata  2) Naganchi Mata 3) Ayad Mata

‘ 56) FT RSy Y fbY dieETT &1 Y 9 e § 7
1) mifrE A 2) AT AT 3) HTE A
‘ 57) Who was the Guru of Balindji?

1) Dadu Dayalji 2) Ramcharaﬁji 3) Sundardasji
57) wnferasit % 76 B 8 7 B

58) Which Lok Devata is known by name of ‘Jaharpeer’?

i 1) Hadbuji ~ 2) Ramdevji 3) Devnarayanjj .

58) ‘FEMUN & AW 9B H AIE gFal B AT AT 6 7
DL ) e d 3) demrE
59) Who is considered as Lokdevi of Alwar region? L i
1) Sugali Mata | 2) Sachiya Mata 3) Jilani Mata
59) It & diedl & B F 5l AEr e ¥ 7
1), I HE 2) Hiuar A - 3) ol [

6(0) Molana Village i$ famous for which handicraft art?

| 4) WIEEH S

- 4) Latiyala Mata,

4) wfcarer =

4) IEAq - T
4) Shitala Mata
4) -‘?ﬁﬂﬂT Hrdr

4) Manglaramji

4} Gogajt

4) T S

1) Teracota 2) Meenakari 3) Bluepottery '4) Thevakala
) efmwrer 0 2) dimd Lo 3) e uiEd 4) Sereen
61) What is ‘Jannotan’ in Rajasthani Culture? _' B
1) A Dinner given by the groom side 2) Measurement of Laﬁd
3) A type of Lokgeet 4y An Ag’n‘cultural Tax
25+« @ 24
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61) wereerdt wiapt & ‘e A g 7
1) T o A & far e
2) ¥ & A
3) T WHE H A
4) UH FY W
62) In Bhil tribe who wears ‘Kachawo’? \ .
1) Men 2) Women 3) Young Boy - 4) Children

62) i wEATT H O @ YeT § 7 | |
) g&% 2) miEET : 3)@@%@_ 4) g

63) What is ‘Aulondi’ in Rajasthani Culture?

1) A type of Marriage

2) Alocal game

3) A girl or woman accompanying the Bride-Groom

4) Rajasthani Lok Geet. ; i 2
63) ToTeIF Tt & ‘G w7

1) femme @1 Uw W

2) UH &3 @

3) TEEy & WY S Gl A9hl Al Fﬁ

4) T e :

64) What for the ‘Chanduji ka Gadha and Bodigama Places’ are fam_oﬁs?

1) For manufacturing of Teer-Kaman
'2) For Meenakari work

3) For Kundan Art
4) For Jajam Printing

64) aztrﬁaﬂfrf:rﬁma@mm 1%1‘25&%?&@@16%?

1) drewae fmiv & fg | '2)#%%@%%1?
- 3) gEA w % W - 4)_mm§5%r_q
65) On which part of 1he body ‘Ballaya” ornament is woze’7 |

1) On Head 2) On Ears ’i) On N()se _ . 4) On Hands
65) ‘s G o g i TR

1) fr T D awd ) wmmE 4) Tt
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% 66) Six people, Parul, Rajendra, Satish, Tarun, Vishal and Prakash, were all born on the same day of the
year. But each was born in different six consecutive years. It is also known that

a) Parul is older than Satish

b) Rajendra is older than both Tarun and Vishal

¢) ‘Prakash is 2years older than Tarun ~

d) Parul was born either in 1962 or in 1963

e) The oldest member of the group was born in 1960

Read the above information and Answer the following question ___

S e et

Que - Which of the following group is correctly listed from the youngest to the oldest?

1) Satish, Parul, Rajendra, Tarun, Vishal, Prakash
2) - Satish, Vishal, Parul; Tarun, Prakash, Rajendra
3) Satish, Vishal, Tarun, Prakash, Parul, Rajendra
4) Satish, Vishal, Tarun, Parul, Prakash, Rajendra

66) T T, 6, TR, TR, A, fasm@ i SIEIeT & T a9 B! THH AL w1 5 I B0
AT qU H B mmaﬁ#wra%%ﬂw%ﬁs

a) UTES HHG A A E |
b) TS qu S e a8 a E
c) WA A5V § 4 Ay §I ¥ )
d) WTER 4t df ay 1962 41 a4 1963 # W= |
e) WEY &S HEEI & 99 a9 1960 § A |
T AT & 9¢ AT Pt wel o TeE dd |
‘ 9 - mﬁﬁ%ﬁ%ﬁwwﬁaﬁ%ﬁqﬁﬁﬁﬂaﬁ%7
L 1) G, T, TR, TE, e, S
» 2) e, farsirer, are, e, wHST, T
: 3) e, FrsTre, T, Yaa, O, T
4) HH, ToTe, T80T, 9THE, YT, T

67) If in a certain language, ENTRY is coded as 12345 and STEADY is- coded as 931785 Then how
will the word TENANT is coded?

1) 316169 2) 396243 3) 312723 4) 312523 .

67) e foped e % e-damai § ENTRY %1 12345 i STEADY &1 931785 ferarnidd @ TENANT s
F1 Fe-Heal H EHH foa e 7 ‘ o
1) 316169 - 2) 396243 _ 3) 312723 . 4) 312523
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68) A,B,C,D, Eand F are cousins. No two cousing are of the same dge but all have blrthday on the.’?..‘
same date. The youngest is 17 years old and E the oldest is 22 years old. F is somewhere betWoen B
and D in age.-Ads older than B, C is older. than D: : : - E

WhJCh ~f the fo]lowmg staterment is not possible?
1) Fis 18years old - o 2) F is 20 ycars old
3) Dis 20 years old L -' 4) Fis 19 years old _‘ 4 a = §

- 68) AB, cDEe.waa%nﬁe;wooaﬁmﬁowwﬁmmmmmﬁﬁf
Wféﬂmﬁm%leﬁétﬂaﬂaﬁ—gmamw@raaEzza@fw"'jg B3 B S,
%wa@r%lAB%w%aﬂ?CDﬁm%; o

Eﬁ@ffﬁﬁmfﬁmwaﬁ%? , . S
1) FH%GHISEJEE{%I 2) Fa?raazoacf%w
| ~'_3.')-.D__aﬁraer20aﬁf% 1 Cor 4) Fa%ealgauf%i

P

69) Ifinacode language “PLAYER” is written as AELPR ” Then in the same language “MANAGER”“% |

i - wﬂl be written as ... 7 . .
D) AAGEMNR 2) AAEMGNR - 3)‘ AAEGMRN A | _
| 69) afe fadt e A © PLAYER” a?r “AELPRY” ﬁ@ @n%x ?ﬁ Tﬁ’f i f fr “ MANAGER” a?rz it
R i%’l'@TWl%lT" 9 A B : 7 .2'_ i ;'*-’-’:
1__) AAGEMNR 2 AAEMGNR 39;:AA'EGMR;N v 4) AAEGMNR

70) A person walks &8 km. in the East du'ectlon There from he moves 5 km in the North West dxrection g
From that place he walks 6km. in the South dll‘eCtIOIl HIS laqt pomt wﬂl he [he chrectl" i
+ from starting: pomt 7 B - ; S Rt T

) South - East ___2)_ South - West )_ _3_). We‘st?« North o

o ari“;r'miﬁsn{frﬁw%*tsgmﬂaafﬁﬁﬁmaﬁﬂﬁﬁm%ﬂfwﬁh e
1)3%01 . 2) e - gﬁaq | S)W Ehid 4)W q:cx

numbe1 of students 1n the vear 2003 i m comoauson to vear 2000 R S
D 8.9% decrease © 2) 9.8% increase g 3) 89% increase . 4) 98% deczedse

| 71) q—eﬁaﬁqmzﬁwﬁwwmﬁmm 10%@?@%&7@@&@3 awzooorf;_ z
: '“’EHHTGETZOO%HEFEI200035TWHWG°[H@TWWET%9THFPI{TETIT* Wl

1y 89% &d )98%6{% - )89%@[1“7 L 4) 98% aH
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72) If the cost of production of an article is 2/5 of its marked retail price, If it is sold at 10% discount
then what will be profi(?

1) 25% 2) 40% 3} 50% _ 4) 125%

72) Gﬁﬁ?ﬁaﬁﬂmﬂﬁwmﬂﬁﬁ@aﬂﬂﬂﬂ2/536?1??{1%3'@[10%21?[@14?@?113@% &
feperm = 2w 2

1) 25% 2) 40% | 3) 50% | 4) 125%

73) A cycle seller gives 10% discount on marked retaif price and still earns 26% profit. If marked retail
price of the cycle is Rs, 840/- Then how much money was paid by the seller for that cycle?

1) Rs. 600/- - 2) Rs 650/- 3) Rs 700/- - 4) Rs 750/-

73) Ut b fappeT | % aifehd el 9rd W 10% & we A ¥ | S TR o 26% Ay e © gt
HIEfeheT 1 G Sifha Hrd T 840/~ B, I Tk 7 3 Wi % W a1 e e 2

1) T 600/ 2) T 650/- 3) T 700/- j 4) T 750/

74) Two things were sold at same sale-price. One thing got 10% profit and another suffered 10% loss.
The difference of their purchase price will be in multiple of which number,
Tell .........

D1 )20 3) 15 - | B 4y 25

74) aa@qwﬁmwwéﬁnﬁlwa@mo%mwﬁ@ﬁm10%61%3@@%@%3
Wnﬁfﬁwmm%mqﬁm?aﬁm

ni1w 2) 20 3)15 - 4) 25
75) What will be the next number in the given seues"
’%2846551266 ........... ? _ _ _
1) 264 2) 317 3) 217 '; 4) 246
75) i vt S 4 Sl e g4 A6 73,28, 4,65, 5, 126, 6, i

1) 264 2) 317 D217 4) 246
76) Whaf will come at thc.pldél;:e _?__In the given sel'iés ‘? i o |

BZA, DYC, FXE, 7, IVI

1) HAG 2) HGJ 3) WG 4 HYG
76) & T qEE § 7 %mewwmrﬂ 7 BZA, DYC, FXE,? VI

D HAG 2) HGT 3) HWG o 4) HYG

77) Two trains of same length are moving in the same direction at the velocity of 46km per hour and
36km per hour 1bspcct1vely The fast tmm Crosses the siow train in 36 seconds. What is the Iength of
each train?

1) 50 meters 2y 72 melers 3) 80 meters 4) 82 meters

28

L
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77) W A @ 9 23 et ar W o A R A g 46 e AL s e s 36 B A o
HET Bl M & ue 7 ¥ | A9 Se ATl 8 4 8 | 36 HiEvS H e e Wl & | 9l 8 &
e e | _

1) 50 Hiz 2) 72 Hrex 3) B0 HieT 4) 82 dier
78) A car driver starting from Bengluru at 8.30A.M wanls to reach a place 300km away from Bengluru

at 12.30 Noon. At 10.30 A .M. he finds that he has covered only 40% distance. How much speed of
the car he has to increase to reach at stipulated time ? '

1) 45 km/hr 2) 40 Km/hr 3) 35 Knvhr 4) 30 Km/hr

78) Uk HR TEAY ATEE d W 8.30 79 wersd TE # 300 fh fd g e W et 12.30 99 wEE
A ® W 1030 99 g€ 3 § R a9 40% g € a4 @ ¥ | i o W aged & ol o
FR @ T far e 2l 2

1) 45 fa&. =1, /9 2)40%5.1&/%1'31. 3) 351%5.1#/&@ 4) 30%51#1/&37

79) Out of Rs 20,000/~ Prakaéh gives some aitiount on Idan at simple interest rate 8% per annum and

rest amount at simple interest rate —3-_% per anmim. At the end of year he carns Rs 800/-. The
amount given at 8% rate will be ...... .

1) Rs 8‘000/~ 2) Rs 12,000/~ 3) Rs 6,000/- 4) Rs 10,000/-

79) W@T?ZOOOO/-ﬁ%gS,EmﬁS%ﬁmwaﬁaswa'{waﬁ?é‘r@mﬁ %aﬁwwmﬁzﬁ
| mﬂwmm%ta&%ﬁaﬁﬁ—awooxﬁmaﬁa@ﬁ%:s%mawawé’mﬁ
el &R L | _ | _
1) 8,000 2) 3 1‘2 OOO'/w _ ?J) ?6000/— 4) 210,000/~

80) Aperson takes a some amount on loan at 3% perannum 51mplc interest payable annually. Immediately
~  he gives it on loan at 5% per annum compound mteIest pdyable half yearly At the end of year he

earns pmﬁt of Rs 330/~ How much amount he tooks on loan?- _
1) Rs 17, OOO/— 2) Rs 16,500/— 3) Rs 16 OOO/~ 4} Rs 15,000/~
80) wE Tl 3% e 29 RUROY = W AR ST HAT § | debte 3 m WE 8 5% il wmeats

mq*waw%ém%iacf%ﬁaﬂﬁ*q?%wmaﬂamwm%I—a?mﬂ?wwﬁwwﬁ
Tl & |

é 1) 717,000 - 2) T16,500/- 3) 716,000/ 4) T15,000/

i 1 O - :
81) If at the rate of 12 5 %0 per annum the compound interest is Rs 510/-. What will be the simple

interest on same amount for the-same period at the same ratc’of interest 7 -

1) Rs 400/- 2) Rs 450/- 3) Rs 460/ 4y Rs 480/-

%.€ 29 PTO
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:-'__::BIJ ?:r% 12 z%uﬁaﬁaﬁza&mmwwmﬂ a‘raﬁnﬁm—éﬁaéwwm%ﬁr
© YWYl & g y
1) 7400/~ 2) T 450/- 3) T 460/- C4) T4R0-

82).:Sort out the word which is different in'some sense in the following group.
“ (1) Geometry (b) Algebra (c) Trigonometry (d) Maths (e) Arithmetic

1) Arithmetic 2) Maths - 3) Algebra 4) Trigonometry

82) By g § 4 oE GE A B, N o G Rl e A R B
) T (b) iR (o) Bl d) R (o) dmtm
oD s L 2) ’ 3) doFiE 0 4) Beoier
. 83) Which is odd Word in these ? Tell | | '
. (a) Bitbal (b) Abul Fazal (c) Fansen (d) Faiz Ahmad (e} Todarmal
1), Abui Fazal o 2) Todarmal w2 Blrbai g 4) Faiz Ahmad

’:::_83)sﬁﬁaﬁﬁsﬁw%?aﬁra | o
(a)c‘sﬁ?ﬂﬁ(b)@@ﬂ%ﬁ(e)aﬁw(dﬁﬁ W(e)?ﬁ@‘{qﬁ

1) amfrsa—rr 2) Eh@?qa L 3) diae 4) %9 s

e ;,. : g “f-: i _\. . 8 . 2

SRR 84) 'ln class of 105 stud@nts out of three su;bj ects Maths, Phyelcs Chem1stry each student studies at least
LS04 one SlleGCt In Maghq 47, in Physics 50, and in Chemistry 52 students studies. 16 in Maths and
B P11y51cs 17 in Maths’and Chermstry and 16 ifi Physics and Chemistry students both subjects.

What wﬂl be Lhe numben of students who stud1es al] three SL‘leCCtS ?

D4

) 1051 Wa?faaw.ﬁfﬁfrﬁw nﬁm%'ﬁammwmﬁﬁmﬁ@rmﬁmﬁw@rm“
| U TN T E | A 47, i e | 50, ue wame e # 52 R e ¥ 16 e
Wﬁhﬁ?ﬁﬁmﬁﬁ 17%%%%?%?16%%%@%%%%@
:’ﬁ AT B :
amﬁﬁ%@ﬁammmﬁa@zmﬁaﬁmwﬁ?

:1) 5 g 2). 6 . 3) 7 s e o4

i

) Ina leSS ot 105 students out of three subjects Maths, Physics and Chermshy each student studies
~ atleast one subject. In these 47 students studies Maths, 50 students studies Physics and 52 students-
B _:_"wh.ldl(,‘s Chemistry and 16 Maths and Phyqlcq 17 Maths aud Chenmtl ¥y and 16 Physics and Chemistry

:-_ studénts- studiés both Sllb_]E‘,CiS

«thi will be the numbcn of those Studum who studies only two subjects ?

‘-~.1)’%1  R 33 L am
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85) 105 Rrnfefai @ v wen § I fawal - whim difte e wag weE e ¥ § ves Rt ga
H &0 T Taed wem ¥ | 3T 47 T, 50 e e v S2 v e e € 116 i e
Aifees s, 17 1a ot e faea qar 16 ifes e ofn e Bee e &

L 3 ferentefal &1 sm ®n Enft, S e @ & favg wed € 7

1) 31 2) 32 3) 33 4) 34
. Y 2 2
86) What will be the square root of (Q'l) (0.01) +1
0.00IXO.I_
1) 10 2) 1.0 3) 0.1 4) 9
0.1y (.01
86 ?
) T 0.001x01 Ww%wm A
1) 10 10 . 3»o1r 4) 9

87) The ratio of ages of Aand B 4 years ‘before was 2:3. And after four (4) years it will bccomes 5.7.
After 2 years their age will be .. :

1) 36 and 40 Years 2) 34 and 50 Years 3) 42 and 58 Years 4) 38 and 54 Years

87) 4acrq3f'r‘rAamBaﬁarrgwaamﬁ23mim4quamaaagqm57éaﬁ1ﬂlzwqaam
IR G B . |

1) 36 iR 40 = 2) 34@?115.03@ 3) 423?[?58@“ 4) 3861“1?54Emf

7 _ :
88) A completes = 0 part of work within 15days. Therea,f ter w1th the help of B, he completes the rest of
- the work within 4 days. B alone w1ll be able to do it in how many days. ' |

1) 213 days  2) 35 A—, daysb 3 28 Az days 4y 30 %4, days

88) Afrdiam e lowma?f15ﬁqﬁwaﬂmgiwﬁaqsaﬂ3ﬁrwwﬁ9ﬁaﬁmﬁ4ﬁﬂﬁw

Al ¥ | B S I ¥ HM B feed BA | &Y do
paykEiE o sy, ,fé?r_rr S 28 ¥y fem & 4) 30;:’43::@1?

89) I -the value of (102)? is 10404, then value of. \/1()4 04 + Jl 0404 + /0.01 0404 will b;z
1) 11.022 - 2) 10.322 - 3y i1z 432

89) aifz (1020 #1917 10404 & 1 41 10404 + 10404 +4/0.010404 &1 #11 €1T -
1) 11022 2) 10322 3) 11,122 4) 11322

v © - : : PR . et — : P._T_t).
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90) In an alloy proportion of Zinc, Copper and Lead is 2:3:1. In another alloy the proportion of Zine,
Copper and Lead is 5:4:3. A third alloy 1s prepared by mixing both alloys in same quantity. The
proportion of Lead, Copper and Zinc in the third alloy will be.

1) 774 2) 9:10:5 3) 6:7:4 4y 5:10:9

90) o ey g # T, A @ ST 23:1 % arged & € | et R e # o, 7 SR o 543
E}sﬁqraw%iﬁﬁhﬁaa@aﬁaﬁwwﬁﬁm@?éﬁﬁﬁamaﬂﬁaﬁ%fﬁﬁﬁam
¥ ofrar, aiEr iR o & S e |

) 7:7:4 2) 9:10:5 3) 6:7:4 _ 4) 5:10:9

-

91) Fill in the blanks using the corregt tense (of the verb) :

When 1 (open) the door, I (see) a man on his knees. He (Jisten) to our
conversation and I _ (wonder) how much he (hear) '
Options

1) open; see; listens; wondered; heard
2) opened; saw; had been listening; wondered; had heard.
3) opened; saw; has been listening; wonder; has heard.

4) opens; sees; listen; wonder; hears.

i 92) Choose one of the following sentences which is the correct PaSSWe Voice of the sentence given
below : (Do not mention the agent) , '
ACTIVE VOICE : You will have to pull down this skyscraper dS you have not comphed with the

town pIanmng 1egulatlons

1) This skyscrdpa building wﬂl be pulled down as the town plannmg 1cgu1at10ns are not comphcd

with.

2) This skyscraper buﬂdmg has to"be pulled down as the town plannmg 1egu1atlons were not

complied with.

3) This skyscraper will have to be pulled down as the town planning regulations have not been

complied with.

4)'} This skyscraper should be pulled down by you as you have not cmnplied with tfl_e town planning

regulations.

Y

T
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i 93) Choose a sentence with the cotrect Indirect form of Narration:
Direct : “ I will sell the TV set if you keep quamrelling about the programme”. said their mother.
“ No, don’t do that ! We will never quarrel”, said the children.

Options: _

1) Their mother said that she would sell the TV set if you kept quarrelling about the programme.
The children said, don’t do that as we would never quarrel. f

2) Their mother told that the TV set will be sold if they keep quarrellmg about the programme. The ,
children forbade her to do that, z-.aymg that they will never quarrel.

3) Their mother threatened to sell the TV set if they kept quarrelling about thc programme. The
children begged her not to do that assurmg her that they would never quarrel.

4) Their mother threatened that she should sell the TV set if they kept quarrelling about the
programme. The Chlld{Cg g;equeﬂ:stqd_,hm do not do this as we would never quarrel.

94) Choose the correct set of articles to fill in the blanks : (Use *X’, if there is no article) .
He said, “As matter of fact, there was explosion in .. last house
I visited; and Mr. Beans, owneétof - house, was burnt in - . Tface.

_ Opﬁons:
1) a; X; an; the; the; the; the R 2) «the; a; g:lr_x-; X; the; the; the
3) the; the; an; a; the; X; a;° : ' 4) the; the; X; the; a; a; the

95) F111 in the blanks choosing the correct set of Qlegosnmns

mistake I opened Sylvia’s letter instead ) my own. She was very angry
me and said that I'd done it Purtpose o

Options: B
1) With; of; on;rwith | _ 2) By; of;on; with
3) On; on; with; with 4) By; ‘o_f'; ‘witli'; on

96) .Identify the INCORRECT sentence: (in which the Veih is not in Agreement with the Sﬁbiect).
~ Options: |
1) Age and experience brings wisdom to man.
2) Neither Mr.Y nor Mr. Z has any riéht to the property.

3) The ship’s crew was a mixed group of different nationalities.

s i
G s

4) When the ship arrived in part, the crew was taken into custody on a charge of mutiny.
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97) Choose the correct set of English translation of the following Hindi Words:
(in right order) -
ERE ; add gl ; wfE
Options :
1) Currency decrease; salary zenith; copyist
2) inflation; increment; transcription
3) deflation; inscribe; counter-copy

4) decreased income; increment; translation

98) The most suitable set of Synonyms of the word ‘generous’ is :

Options:
1) thankful, grateful, indebted - 2) liberal, bouontiful, magnanimous
3) gentle, humble, tender _ 4) stately, dignified, exalted

- 99} The miost suitable antonym of the word *misanthropist’ is :

Options : |
- 1) Philanthropist . 2) Anu misanth.ropist_
3) Amisanthropist . -4 Diskanthl‘_opis‘t

100) The most suitable ‘gn'e word substitute’, of the following words are; (in right order);
' (a) fear of confined spaces; (b} a person who has an rresistible desire to steal.

Options: _
1) (a) agoraphobia; (b) pyromaniac :

2) (a) spacephobia; (b) dipsoma{fli,ac

3) (a) clastophobia; (b) theftomaniac | L S

4) (a) claustrophobia; (b) ld_eptomaniaq

101) Which is the fastest memory?

[} CD ROM o 2) Hard Disk ‘
3) Auxiliary Memory '! ' 4) Cache Memory

101) 959 o7 f94 & 7

1) CD ROM | ) wE e
3) A (HErE) S , 4) e AT

102) Which key of the keyboard is mainly used to cancel the program? |

}_j Del Key 2) Enter Key 3) Ins Key 4) Esc Key

34
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102)§uﬁqaaa?rg@a Wﬁh%mﬁmﬁ@w%?

1) Del g - I x Entelga_uﬁ

3) Ins 4) Esc Faft

103) Shortcut command for align the text in centre?

1) Cul+E- 2) C‘tr1+T

3) Cul+R 4) Cul+C

1oa)maﬁaﬁ(wmma(m)m%%mn€mmé?

1) Ctrl+E 2) Cul+T
104) Multimedia contains?
1) Audio

~3) Both 1 and 2

1) @it (s=) .

}05 YDN S stand for -

1) Domain Number System

3) Data Name Systcm .

, 105)DNsemar<crrfr%?

1) s‘lﬁqwf@r{m
3) =rer 99 R

- 106) 1 Kijlobyte is equal to =

.+ 1), 8000 Bits.
'3) 512 Bits -

“1), 8000 fag

" 107) 1 Nibblc is equal to - T

4Bt . 2) 8Bt
107)1 Fae gra & 7 o

1) 4fag 28
108) Hwhest capdc;ty of the storage are y

1) Terabyte 2) Youabvtc: ‘

3 12

| 2) 1024 Bits
45 None of the above

) 10241%:3

. dIckE

3) 'Zettabyte -

3) Cirl+R 4) Ctrl+C

2) Video

. 4) none of the above

4) 3 9 FE T8

2) Domain' Name S_ystcm

4} Nb__ne’ of the above

= 2) s‘ﬁm fm f%r@q
4, aaa iT a?ré =r€i

3) 512 ﬁ'c; 4)Gaﬁ Wa’v‘l’;‘ gl

3) 16Bit . 4) 4Byte

4y dwEe

4) Exabyte
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108) 9USTTUN (FE1) i S &l & |
1) #wame 2) drET TEE 3) g A 4) TE AT
109) The Speed of modem is measwred in which unit?
1) BPS _ 2) GPS
"~ 3) CPS . s 4) None of the above
109) 2w & v & by @ § F10 S E
1) BPS 2) GPS 3) CPS 4) o H B T8
110) What is the full form of ISDN?
1) Input Service Digital Network
2) Integrated Services Digital Network
3) Integrated Switch Digital Network
4) Input Switch Digital Network
110) ISDN &1 g «| .7 ,
1) THye wE R ead ) =Eire Wi Ried Yoo

3) TS i R feah 4) T @ Bfted Tead
111) Frferfer & & fore oo @ wefl s wafaard € - 1| |
1) &I - dE, F, e, g
2) g9 - U9, HHNd, Tan, aEd :
3) gl - oTEE, 9, AN, TG B | !
4) Tz - Ftfiel, s, s, @gm - | ‘ ]
112) fip wge & v - Ay oy ® - o |
1) gSiged, wygueR, A | 2) af, wEE, =
3) fozemfs, @ofy, = 4) qEM=, FEdor, F2ma
113) gere @1 girageaa A9 T & - -
1) Bt 1 AT - BieA ulism B e
2) U2 & FW g0 - YN HFAAT
3) Wil 3Hg T - U W FE H g, A
4) TEL T GeT YT HEnT - HA1e] S SETee il
114) s Fagdiaed? e e @ -
2) "I - wied, BTG - T, a9 - AR
4) ST e, wsmnir-arss, st H-saem
25‘_% ' . 36
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116) fea Tamsmr & 71 vT odung gam o @i § -
1) Fewerd, e, wei, @i
2) =Y, O, mEEE, Sadd
3) ga=, BrdS, UG, TS
4) Herad, gse, daerg, GRia

117) FreRifra &1 glrrgaa otef ¥ -

1) &9ar &Y shE 8 A1 G- 59 Y 69T Ya o 6

2). W & % ud & - =t e |
3) Wel 91 J & 2 - wwereawﬂﬁz‘ra‘rﬁfr%i
4) wmﬁ%m@%mqﬁmwméﬂﬁﬁl .'

i

i

GHW

L15) Ty feee A el & ¥fem ar@ido o s _

1) TS, T, T | 2) S, §G, 69G

3) T, FIH, FoR - 4) gfE, g, g

118) gl Aelgad g0 91 ATl frbeq @

1) WEd = e 9wl 9 = GﬂHQTHIQﬁ@T—”—-’Eﬁ 5
O = Wiel g, Ui = G, Qﬁmz’ﬁm

Z)QH%zam dE = U aﬁa:mﬁm
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